Task 2 If Base |0 represented money, what do you think these w.ould
represent? Why?

II@

£20

Task 3 Annie has 3 coins in her
hand. Jock says...
Ls he correct? Explain your

answer.

ltem Price
Rubber 20 p
Ruler 18 p
Pencil 32p
Crayon 27 p
Pen 45 p
Glue 36 p

2p

20p
o
. . £20
O

| have more than you

because | have a 50
@ pence coin.

~

J

Task & Here is a shopping list.

-I huwy something for 32p, what do I

buy?

-I buwy 2 rubbers, how much do I

spend?

-I spend 50p. Which 2 items did I buy?

-I hought 2 .of the same item .and .it

cost . me 90. What was the item?




